43416.7

processing

LQS1025

43416.7

40736.4

43335.7
00100.7
03099.6
12853.8

14463.0

34320.0

11405

)

-

33161.9

45006.5

40/55.4

40//5.5

42564.8

41461.1

44442 1

Copo Completo [44846.0

LQS1025
N
STOCK CODE DESCRIPTION MAN.PART
NUMBER /
DRAWING REF

XLQS8927 L1Q SKYMSEN LAR(4LT+25LT)-INSULATING TERMINAL 0121300
XLQS8928 L1Q SKYMSEN LAR(4LT+25LT)-NYLON COVER 20311
XLQS8930 L1Q SKYMSEN LAR(4LT+25LT)-EARTH WIRE 137375
XLQS8931 L1Q SKYMSEN LAR(4LT+25LT)-POSITIVE TERMINAL LOCK 175811
XLQS8934 L1Q SKYMSEN LAR(4LT+25LT)-CORD HOLDER PG13,5 LC+P/9 319236
XLQS8941 L1Q SKYMSEN LAR(25LT)-ALLEN SCREW M6X8 031887
XLQS8942 L1Q SKYMSEN LAR(25LT)-TERMINAL-2434 032832
XLQS8943 L1Q SKYMSEN LAR(25LT)-SPRING FOR TILTING SYSTEM 048704
XLQS8944 L1Q SKYMSEN LAR(25LT)-NUT M5 DIN 934 S/S 104710
XLQS8945 L1Q SKYMSEN LAR(25LT)-SCREW M3X10 DIN 84 S/S 124915
XLQS8946 L1Q SKYMSEN LAR(25LT)-NUT M3 DIN 934 S/S 128538
XLQS8947 L1Q SKYMSEN LAR(25LT)-LOWER COUPLING (ALL) 129232
XLQS8949 L1Q SKYMSEN LAR(25LT)-COMPLETE SCREW 137596
XLQS8950 L1Q SKYMSEN LAR({25LT)-WIRELESS KEY 140414
XLQS8951 L1Q SKYMSEN LAR({25LT)-FIBER WASHER 20X13X0.7 146544
XLQS8952 L1Q SKYMSEN LAR({25LT)- RUBBER WASHER 173851
XLQS8954 L1Q SKYMSEN LAR({25LT)TERMINAL COVER 175820
XLQS8955 L1Q SKYMSEN LAR({25LT)-ON/OFF SWITCH 262285
XLQS8957 L1Q SKYMSEN LAR(25LT)-THERMAL PROTECTION 326291
XLQS8959 L1Q SKYMSEN LAR(25LT)-PEDAL 343200
XLQS8960 L1Q SKYMSEN LAR(25LT)-STANDING RUBBER 348953
XLQS8961 L1Q SKYMSEN LAR(25LT)-PLASTIC CONDUIT 356131
XLQS8962 L1Q SKYMSEN LAR(25LT)-CONTACTOR 220V 50/60Hz 401340
XLQS8963 L1Q SKYMSEN LAR(25LT)-COVER/ CAP 407534
XLQS8964 L1Q SKYMSEN LAR(25LT)- COVER 407755
XLQS8965 L1Q SKYMSEN LAR(25LT)- COMPLETE BEARING 414611
XLQS8966 L1Q SKYMSEN LAR(25LT)- SHIELD CUP 25MB 425648

14660.9 40830.1

17456.4

20378.5 1 14654.4
14650.1

09167.7

14644.7

146535.6

414646 14654.4

14657.9

www.bce.co.za



